cosx*sin(x/4) +

+2sin(x/4) * cos(x/2) + sin(x/4) - Y2*cos(x/4) =0

sin(x/4)*(cosx+1)+9/20*(2sinx-1)+2sin(x/4)*cos(x/2)-Y2*cos(x/4)=0

sin(x/4)*(cosx+1+2cos(x/2))+9/20*(2sinx-1)-Y2"cos(x/4)=0

sin(x/4)*(2cos2 (x/2)-1+1+2cos(x/2))+9/20*(2sinx-1)-Y2*cos(x/4)=0

2sin(x/4)*cos(x/2)*(cos (x/2)+1)+9/20*(2sinx-1)-"2*cos(x/4)=0
4sin(x/4)*cos(x/2)*cos”2 (x/4)+9/20*(2sinx-1)-"2*cos(x/4)=0
cos(x/4)*(4sin(x/4)*cos(x/2)*cos(x/4)-2)+9/20*(2sinx-1)=0

2sinx*cosx=sin(2x)

cos(x/4)*(2*cos(x/2)*sin(x/2)-72)+9/20*(2sinx-1)=0

cos(x/4)*(sinx-72)+9/20*(2sinx-1)=0

V2*cos(x/4)*(2sinx-1)+9/20*(2sinx-1)=0

(2sinx-1)*(72*cos(x/4)+9/20)=0
2sinx-1=0

sinx="%

x=P/6+2Pn

x=5P/6+2Pn
Y2*cos(x/4)+9/20=0
cos(x/4)=-9/10
x/4=arccos(-9/10)+2Pn
x=4arccos(-9/10)+8Pn
x=-4arccos(-9/10)+8Pn

X nexut B [-9P/2;-3P/2]

1) x1=P/6+2Pn
-9P/2<=P/6+2Pn<=-3P/2
-9/2<=+2n<=-3/2
-27<=1+12n<=-9
-28<=12n<=-10
-7/3<=n<=-5/6
n1=-2
n2=-1
x1_1=P/6-4P=-23P/6
x1_2=P/6-2P=-11P/6

2) x2=5P/6+2Pn
-9P/2<=5P/6+2Pn<=-3P/2
-27<=5+12n<=-9

-32<=12n<=-14
-8/3<=n<=-7/6
n1=-2

x2=5P/6-4P=-19P/6

P/8 V arccos(9/10)
cosP/8 V cos(arccos(9/10))
cost=cosP/8 V 9/10

cosP/4 =V2/2 = cos 2t
Cos 2t=2cos”2 t-1
2cos’2 t=V2/2+1
cost=+-V(V2/4+7/%)
cost=+-V((V2+2)/4)

cos(P/8=V((V2+2)/4)

V((V2+2)/4) V 9/10
(V2+2)/4 V 81/100
25V2+50 V 81
25V2 'V 31

6252 > 961
cos(P/8) > 9/10
arccos(9/10)>P/8

P/8 > arccos(9/10)

3) x3=4arccos(-9/10)+8Pn
-9P/2<=4arccos(-9/10)+8Pn<=-3P/2
-9P/8<=arccos(-9/10)+2Pn<=-3P/8
PelweHnn Het

4) x4=-4arccos(-9/10)+8Pn
-9P/2<=-4arccos(-9/10)+8Pn<=-3P/2
-9P/8<=-arccos(-9/10)+2Pn<=-3P/8
n=0

x4=-4arccos(-9/10)

OtBerT: -23P/6; -11P/6; -19P/6; -4arccos(-9/10)

arccos(-9/10)

-9P/8
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arccos(9/10)

-arccos(-9/10




